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 ПРОТОЗВЕЗДЫ

H2 + H2 -> H3 + n + 3.27 MeV (T ∼ 106 K)

p + p -> H2 + e+ + ν + 0.42 MeV  (T ∼ 107 K) 

T ∼ 107 K, T ∼ 1 keV

примесь D/p  ∼  10-4 
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УГЛЕРОДНЫЙ ЦИКЛ

Эволюция массивной звезды
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 ЭВОЛЮЦИЯ 
МАССИВНОЙ ЗВЕЗДЫ
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КОСМИЧЕСКИЕ ЛУЧИ

p      -  87 %

He   -  12 %

e-      - 2 %

e+        - 0.2 %

p-      - 0.008 %

N(E) = N0 E-n, n = 2.7, E < 1015 eV n = 2.7, E > 1015 eV

n = 3.0, E > 1015 eV
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КОСМИЧЕСКИЕ ЛУЧИ

Толщина атмосферы - 1000 г/см2

р (nucl. length) - 100г/см2

ШАЛ ∼ 10 км2

p ->  π  ->  μ

μ  ∼ 10-2 /см2/ст/с
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ЗАКОН КУЛОНА

Обмен фотоном    f = Δp/Δt,  Δt = r/c,   Δp ∗ r ≈ h  

f = h/r / r/c = hc/r2

α = e2/hc

F = Z1 α 1/2 Z2 α1/2 f = Z1  Z2  e2/r2 
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РАСПАД ПИОНА

π+ -> μ+ + νμ , π- -> μ- + ~νμ , Q = 34 MeV 

π+ -> e+ + νe , π- -> e- + ~νe , Q = 140 MeV  - под. в 104 раз
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РАСПАД ПИОНА

Leν h < p Rw ,  Rw  ∼ 10-3 fm,   hc = 197 MeV fm

Leν < 70 MeV 10-3 fm /200 MeV fm  = 3 10-4

Leν = 0
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РАСПАД ПИОНА

Eμ = (mπ2 + mμ2 )/2mπ , pμ = pν = (mπ2 - mμ2 )/2mπ 

Ee = (mπ2 + me2 )/2mπ , pe = pν = (mπ2 - me2 )/2mπ 

ρ ∼ p2 dp/dEt = pE,       Ee + pe = mπ, pdp = EdE

we  ∼ ρ (1- βe) ∼ ρ (1- pe/Ee) ∼ (mπ2 - me2 )2  me2

wμ  ∼ ρ (1- βμ) ∼ ρ (1- pμ/Eμ) ∼ (mπ2 - mμ2 )2  mμ2

(mπ2 - me2 )2 / (mπ2 - mμ2 )2  = 5.4

(1- βe)/(1- βμ) = (me/mμ)2 =3.7 x10-5;  Br(e/μ) = 1.3 x 10-4
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